PRACTICE PAPER-1

SOCIAL SCIENCE
Total Questions-47 Class-10 Subject Code-85E
Time-3 hour Max Marks-80

Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the
correct alternative and write the complete answer along with its letter of

alphabet in your answer booklet. 10x1=10

1. The main reason for being criticized the subsidiary alliance and Lord Wellesley resigned from
his post and returned to England was

A) Lord Wellesley suffered a humiliating defeat from the Marathas.

B) The Subsidiary Alliance of Lord Wellesley didn’t get expected success.

C) Battle thirstiness of Lord Wellesley increased the financial burden on the Company

D) Sipoy mutiny was took place due to subsidiary Alliance in India.

2. Which of the following statement is correct regarding humid farming.

A) A type of farming in which the production of crops is consumed almost by the farmer and his
family

B) A method of farming carried on in areas where scanty rainfall and absent of irrigation.

C) Agriculture involving the cultivation of crops and livestock rearing

D) The cultivation of crops in areas which receives sufficient rainfall, crops are grown without
the help of irrigation

3. The main reason for the backwardness of rural areas

A) Superstitions and slow social changes

B) Urbanization and development of large scale industries

C) Illiteracy and decline of cottage industries

D) Stagnation of agriculture and slow economic growth

4. India strongly opposes colonialism. Because

A) India is following colonialism

B) India gained independence by opposing colonialism

C) India is following non-aligned policy

D) India has no any colonial country.

5. The primary aim of Congress as it is declared during its first national convention is

A) To gain complete freedom

B) To protect political rights of Indians

C) To achieve national unity

D) To provide constitutional rights to Indians

6. As aresult of globalization economic interdependence among different countries can build
improved political and social links. Because due to globalization between the countries

A) Military agreements have been signed

B) Economic interdependence developed

C) Trade agreements have been signed
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D) Political dependence created

7. ldentify the important hydroelectricity power generation centers of Odisha.

A) Mettur, Pykara, Papanasum, Periyar

B) Koyana, Khopoli, Bhola, Bhivpuri and Bhira.

C) Hirakud, Bhimkud, Balimela and Regali.

D) Nizamsagar, Nagarjunasagar,Pochampad.

8. Permanent member nations of UNO are as follows.

A) America, India, Pakistan, Srilanka, China

B) America, Russia, Britain, France, China

C) America, Russia, Nepal, Pakistan, Bangla

D) America, Russia, China, Nepal. India

9. In 1925, Self-Respect Movement started by Periyar Ramaswamy was recognized the part of the
following movement

A) Untouchability prevention movement

B) Alcohol prohibition movement

C) Environmental protection movement

D) Women exploitation opposition movement

10.The factors which created extreme competition among the European countries were

A) Industrial revolution and new discoveries

B) Renaissance and Religious reformations

C) Geographical discoveries and Religious reformations

D) Renaissance and Imperialism

Answer the following questions in a sentence each. 14x1=14

11. What was the reason for implementation of Subsidiary Alliance by Lord Wellesley?

12.How do you say that Indian Council Act of 1909 divide India on the basis of religion?

13.Which rumor was caused 1857 revolt?

14.What was the result of a battle of Port Novae?

15.The Indians started to express outrage against the British. Why?

16.Which type foreign policy 51 article of the Indian Constitution suggests?

17.How can be understand the nature social inequality already existed in the society?

18.What was the main aim of the Chipko Movement?

19.How does cultivable waste land created?

20.What is remote sensing technology?

21.What is density of population?

22.During 1901 - 1921, population growth of India was slow. Why?

23.How does inflation occurs?

24.How do you say that due to globalization customers are offered a much wider choice of goods
and services?

Answer the following questions in TWO or THREE sentences each. 15x2=30

25.The British dethroned Mir Kkasim from the Nawab of Bengal. Why?

26.The reforms of Theosophical society in India are called the revival of Hinduism. Justify the
statement.

27.Mention the administrative causes for 1857 revolt?
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28.How did the Hyderabad province merge with the Indian union?
OR
Describe the way of Pondicherry was freed from the French.
29.Explain the characteristics of Fascism.
30.How are India and China trying to improve the relationship between the many hurdles?
31.Foreign economic cooperation is essential for the development of backward countries. Why?
32.Child labour is a social evil. How?
33.Mention the differences between the Western Ghats and the Eastern Ghats?
34.The Indian climate varies from region to region .Why?
35.What are the measures can be taken to conservation of forests?
36.Irrigation is very necessary in India. Why?
37.Mention the importance of Pipelines in the transport system of India.
38.What are the reasons for low human development index of India?
39.How does the Consumer Protection Act protect the interests of consumers?
Answer the following questions in 5 to 6 sentences each. 6x3=18
40.Analyze the judicial system organized by the British through the East India Company.
OR
Analyze the revolt of Dondiya Wagh against the British.
41.Describe the bad effects and prevention measures of communalism.
OR
Describe the economic and social achievements of U N O.
42.What are the constitutional and legal measures to eradicate untouchability?
OR
What are the characteristics of unorganized labourers?
43. What are the factors influenced the location of industries?
OR
What are the reasons for earthquake?
44.Explain the credit control measures used by Reserve Bank of India.
OR
Explain the reasons for the increase of public expenditure.
45.“Post offices providing various financial services”. Justify the statement.
OR
“The role of an entrepreneur is very important in the economic development.” Justify the

statement.
Answer the following question in 8 to 10 sentences each. 1x4=4
46.Describe the contribution of non-cooperative movement in the freedom movement of India.
47. Draw a neat outline map of India and mark the following. 1+3=4

A) 23%0 North latitude

B) Nhavasheva
C) Raniganj
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